
Set up: Print posters on 8.5 x 11 in. paper in 

landscape format. Hang posters around the room 

(or hallway, tables, etc.) in their numbered pairs,

with #A posters above their coordinating #B 

poster.  Each poster set is a “station”.    

This scavenger hunt will refresh students’ math knowledge while practicing their TI-84 graphing

calculator skills. This .PDF includes: Student answer sheets, Q/A posters to hang around the room and 

teacher answer/hint sheet .  

Precalculus Scavenger Hunt

1A

1B

2A

2B

3A

3B

4A

4B

Poster station set up and student movement example:

The Hunt: Students can start at any poster 

“station.”  The hunt will move students in a loop.  

#A posters ask a question. #B posters house an 

answer. Students must find the #B poster with 

the correct answer and then solve the question 

of the #A poster above it to continue. 



Start at your assigned poster station. 

Each station has two posters. 

The top posters have questions. 

The bottom posters have answers.

Oh no! The answers are mixed up! You will have 

to find the correct answer at another station. 

(Hint: You will not be moving in a single direction.)

When you find the bottom poster with 

the correct answer to your question, write the 

answer letter on the poster next to the  question 

number on your answer sheet. 

To move on, answer the question on the top 

poster of your new poster station.

This hunt will loop. When you arrive back at

your first question, you’ve finished the hunt!

  

Student Directions

Question

Poster Station Example

Answer Sheet Example

1. Find the
answer.

2. Solve the next 
question.

3. Search for the
 next answer.

Answer: Q

Q: 1 A:  G

Q: 2 A:   P

Q: 3 A:   R



Student Answer Sheet 
Question
Number

1

2

3

4

5

6

7

8

9

Answer
Letter

Show your work, write down your calculator key presses, or describe your method. 



Student Answer Sheet 
Question
Number

10

11

12

13

14

15

16

17

18

Answer
Letter

Show your work, write down your calculator key presses, or describe your method. 

BONUS: What calculator feature gives you a SEARCHABLE menu of ALL available functions/operations? 



Find the graph that 

shows the solution 

for this system 

of inequalities.

1 A

 
Evaluate: 
3x – 2y > 4

3x + 4y ≤ 20



1 B

Answer: N



Evaluate: 
f(x) = 2x3 – 2 

2 A

Find the inverse

of the function

algebraically.

 Then find the

graph of the function

and its inverse.



2 B

Answer: I



3 A

Find the graph that 

shows (f-g)(x) 
with the associated 

table that shows: 

(f-g)(-3) 

(f-g)(2)

(f-g)(7)

Given: 
f(x) = 4x2 + 3x +2

g(x) = 2x2 – 5x –6
 



3 B

Answer: E



4 A

Use the graphs of the 

parabola. They show 

the minimum and an 

x-intercept of the 

function. Write the 

equation for the parabola. 

Then, use your equation, 

to find the matching 

table of values. Note: The minimum is (2,-5)



4 B

Answer: D



5 A

Find the solution
for the following 

system of equations 
algebraically.

Then check your 
solution by finding 

the graphical
solution. 

Evaluate: 
y = -x2 + 2x +7

y = -2x2 + 2
 



1 A5 B

Answer: J



6 A

Find the graph 
showing the 

solution for the 
system of inequalities.

Evaluate: 

2y + 3x ≤ 4  

4x – y < 2



6 B

Answer: K



Evaluate: 

f(x) =
3√ 6x + 4  

7 A

Find the inverse 

of the function

algebraically.

Then find the 

graph of the function 

and its inverse.



7 B

Answer: PAnswer: B

Find the inverse 

of the function

algebraically.

Then find the 

graph of the function 

and its inverse.



8 A

Write an equation

of a sine function

with an amplitude of

3 and a period of π. 

Then, find the graph

of the function.

Evalulate:

sine function

amplitude: 3

period: π 



8 B

Answer: M



9 A

Use the graph of the
logarithmic function. 

With this function,
find the graph of

the transformation: 

- f (x) + 3 

y = log4x 



9 B

Answer: G



10 A

Find the graph

that shows:

 ( f  °  g ) (x)
 with the associated

table that shows: 

( f  °  g ) (-3)

( f  °  g ) (2)

( f  °  g ) (7)

Given:

f(x) = 4x2 – 3

g(x) = x –1



10 B

Answer: F



Write an equation
of a sine function 

with an amplitude of 3
and a period of 4π. 

Then, find the graph 
of the function.

.

11 A

Evaluate: 

sine function

amplitude: 3

period: 4π



11 B

Answer: P



Identify the type of 
conic section defined. 

Rewrite the general
form of the conic

into standard form. 

Then, find the
associated graph. 

12 A

Evaluate: 

x2  + 4y2   –18x – 8y + 81 =0



12 B

Answer: R



Look at the graphs of

the parabola. They show 

the minimum and an 

x-intercept of the function. 

Write the equation

for the parabola. 

Then, use your equation 

to find the matching 

table of values. 

13 A

Note: The minimum is (4,-3)



13 B

Answer:Q



14 A

Identify the type of 
conic section defined.

 
Rewrite the general 

form of the conic into 
standard form. 

Then, find the
associated graph. 

Evaluate: 

x2  + y2   + 24x + 10y + 160 = 0



14 B

Answer: L



Find the solution
for the system

of equations
algebraically.

Then check your
solution by finding the 

graphical solution 
. 

15 A

Evaluate: 
y = -x2  – 4x + 1
y = -2x + 1



1 A15 B

Answer: A



Use the logarithmic 

function graph to 

find the graph of  

the transformation: 

3 f ( x)  –1

16 A



16 B

Answer: O



Evaluate: 

9x2  + 4y2   –144x – 8y + 544 = 0Identify the type of 
conic section defined. 

Rewrite the general
form of the conic

into standard form. 

Then, find the
associated graph. 

17 A



1 B17 B

Answer: H



18 A

Evaluate: 

x2  + y2   + 6x + 32y + 264 = 0Identify the type of 
conic section defined. 

Rewrite the general
form of the conic

into standard form. 

Then, find the
associated graph. 



18 B

Answer: C
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